Cable length calculation tables for selected F&F Filipowski transformers and meters

Select the transformer and meter used - read the value from the table

[VA] Column2  LE-03d CT200 LE-03d CT400 LE-02dCT LE-03MCT LE-03MW CT LE-03MQCT LE-03MB CT

TOM-100 1,5 = = 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TOM-150 1,5 = = 1.1 VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TOM-200 1,5 0.5 VA = 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TOM-250 1,5 - - 1.1VA 1.1VA - 0.5 VA 0.5 VA
TOM-300 1,5 = = 1.1VA 1.1VA 0.5VA 0.5 VA 0.5 VA
TOM-400 1,5 = 0.5 VA 1.1VA 1.1VA 0.5VA 0.5 VA 0.5 VA
TOM-500 1,5 = = 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TOM-600 1,5 = - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TI-30 2,5 = = = 2.1VA 1.5VA 1.5VA 1.5 VA
Ti-40 1 = = 0.6 VA 0.6 VA 0 VA 0 VA 0 VA
TI-50 1,5 = = 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TI-60 1,5 = - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TI-75 1,5 = = 1.1VA 1.1VA 0.5VA 0.5 VA 0.5 VA
TI-80 1,5 - - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TI-100 2,5 = = 2.1VA 2.1VA 1.5VA 1.5 VA 1.5 VA
TI-150 2,5 = = 2.1VA 2.1VA 1.5VA 1.5 VA 1.5 VA
Ti-200 5 4 VA = 4.6 VA 4.6 VA 4 VA 4 VA 4 VA
Ti-250 5 - - 4.6 VA 4.6 VA - 4 VA 4 VA
TI-300 5 = = 4.6 VA 4.6 VA 4 VA 4 VA 4 VA
Ti-400 5 = 4 VA 4.6 VA 4.6 VA 4 VA 4 VA 4 VA
Ti-600 5 = = 4.6 VA 4.6 VA 4 VA 4 VA 4 VA
TiI-1000 10 = = 9.6 VA 9.6 VA 9 VA 9 VA 9 VA
TI-1250 10 - - - 9.6 VA 9 VA 9 VA 9 VA
TiI-1600 10 = = 9.6 VA - - 9 VA 9 VA
TO-100 1,5 - - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TO-150 1,5 - - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TO-200 1,5 0.5 VA - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TO-250 1,5 - - 1.1VA 1.1VA = 0.5 VA 0.5 VA
TO-300 1,5 - - 1.1VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TO-400 1,5 = 0.5VA 1.1VA 1.1 VA 0.5VA 0.5 VA 0.5 VA
TO-500 2,5 - - 2.1VA 2.1VA 1.5VA 1.5 VA 1.5VA
TO-600 2,5 - - 2.1VA 2.1VA 1.5VA 1.5 VA 1.5 VA
TO-750 5 - - = 4.6 VA 4 VA 4 VA 4 VA
TO-1000 5 - - 4.6 VA 4.6 VA 4 VA 4 VA 4 VA
TO-1250 5 - - = 4.6 VA 4 VA 4 VA 4 VA
TO-1600 7,5 - - 7.1 VA = = 6.5 VA 6.5 VA
TO-2000 10 - - 9.6 VA 9.6 VA 9 VA 9 VA 9 VA
TP-100 1,5 - - 1.1 VA 1.1VA 0.5 VA 0.5 VA 0.5 VA
TP-150 2,5 - - 2.1VA 2.1VA 1.5VA 1.5 VA 1.5 VA
TP-200 2,5 1.5VA - 2.1 VA 2.1VA 1.5VA 1.5 VA 1.5 VA
TP-250 2,5 - - 2.1VA 2.1VA = 1.5 VA 1.5 VA
TP-300 2,5 = = 2.1VA 2.1VA 1.5VA 1.5VA 1.5VA
TP-400 2,5 - 1.5VA 2.1VA 2.1VA 1.5VA 1.5VA 1.5 VA
TP-600 2,5 - - 2.1VA 2.1VA 1.5VA 1.5 VA 1.5 VA




Select the column with the value closest to the value in the previous table and the cross-
sectional area of the cable used - read off the maximum length of the two-
wire cable

0O5VA 1VA 1.5VA AV 2.5VA 3VA 4 VA 6 VA 8 VA 10 VA

m 025m 050m 075m 1,00m 125m 150m 2,00m 3,00m 400m 500m

037m 0,74m 1,11m 148m 18m 222m 29 m 444m 593m 7,41m

m 050m 1,00m 150m 200m 250m 3,00m 400m 600m 800m 10,00m
0,71lm 143m 2,14m 286m 357m 429m 571m 857m 11,43 m 14,29 m
m 1,11m 222m 333m 444m 556m 667m 889m 13,33m 17,78 m 22,22 m
m 200m 4,00m 6,00m 800m 1000m 12,00m 16,00m 24,00m 32,00m 40,00m
m 286m 571lm 857m 11,43m 1429m 17,14m 22,86 m 34,29m 4571lm 57,14m
500m 10,00m 15,00m 20,00m 2500m 30,00m 40,00m 60,00m 80,00m 100,00 m

For meters or transformers outside the F&F range, the rule applies:
L= (Pp - PL)/Us* * R)p

Where

pp- Transformer power

pL- Power consumed by the meter input s
- Transformer secondary current

rm - Resistivity of a 2-core cable per metre

Example of resistance table for a 2-core cable.
Conductor cross- Resistivity per metre [rm].

section

2 x 0.5 mm? 80 mQ
2x0.75 mm? 54 mQ
2 x1 mm? 40 mQ
2x 1.5 mm? 28 mQ
2x 2.5 mm? 18 mQ
2 x4 mm? 10 mQ

2 X 6 mm? 7 mQ

2 x 10 mm? 4 mQ



